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Answer1

Prove algebraically that the recurring decimal 0.25 has the value 9—3
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Answer 2
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Use algebra to show that the recurring decimal 0.38 = 18
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Answer 3

Write the recurring decimal 0.25 as a fraction.
[0.25 means 0.2555...]

Multiply the number by 10 to “shift it” by one repeating cycle.
10 »0.25 = 255
Subtract the number with recurring decimal from both sides.
g x 025 = 255025

9 x0.25 = 2.3

Divide both sides of the equation by 9.

025 =2
T 9

Multiply the denominator and the numerator of the fraction by 10

025—23
T 90
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Answer4

Write the recurring decimal 0. 36as a fraction.
Give your answer in its simplest form.
[0.36 means 0.3666...]

We have that

100 x 0.36 = 36.6
10 x 0.36 = 3.6
Subtracting these we get
- 100(0.36) — 10(0.36) = 33

- 90 x 0.36 = 33

036 = o3
- 0.36 = —
90

11
30
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Answer5

Write the recurring decimal 0.4 as a fraction.
[0.4 means 0.444.. ]

Set x = 0.444 ...
10x = 4.444 ...
10x —x =4.444 ...— 0.444 ...

Ox =4
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Answer 6

A

Show that the recurring decimal 0.17 = 8
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Answer?7

P O 1L66C6666 ...

Use algebra to show that the recurring decimal 0.26 = 1%
X (0 .
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Answer 8

Write the recurring decimal 0.2 as a fraction.
[0.2 means 0.222...]

Give it a name: f=122222...

Multiply by 10 until the 10f = 2228227 .

decimal partsare thesame:  10f — £ = 2.222222 ... — 0.222222 ...

Subtract to get rid of the 9f =2

decimal part:

~
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And simplify:
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Answer9

Write the recurring decimal 032 as a fraction.
[032 means(0.3222. ]

We need to get rid of the recurring decimal by doing the following
100 x 0.32 = 32.2
10'% 0:32 = 3.2
100 x 0.32 — 10 x 0.32 =90 x 0.32
=32.2—3.2
- 90 x 0.32 =29

Now divide by 90

032f29
T 90
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Answer 10

Write these numbers in order of size.
Start with the smallest number.

0.246 0.246 0.246 0.246
O L8 = O-L&E@s o ..
O - Ll = O 2666 ...
O Ll = O-Teblet? .
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Answer 11l

3

Show that the recurring decimal 0. 396= —— 1
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Answer 12

Write the recurring decimal 0.63 as a fraction in its lowest terms.
You must show all your working.

100 x 0.63 — 0.63 = 63
= (100 — 1)0.63 =99 x 0.63
- 99 x0.63 = 63

Now divide through by 99

0.63 =22
Sl = —
99

Cancel out 9 top and bottom
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Answer13

Write the recurring decimal 0.48 as a fraction.
Show all your working.

48.48 — (.48
= 48

We can also factorise out the recurring decimal, making it

equal to
0.48(100 -1
=99 x 0.48
Hence
99 x (.48 = 48
B =
- ). = —_—
99
- 16
33
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Answer 14

Express the recurring decimal 0.2€] as a fraction in its simplest form.
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Answer15

Using algebra, prove that 0.136 x 0.2 is equal in value to %
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